Find the 5" term in the expansion of (7n° —3n°)?" . SCORE: /5 PTS

NOTES: Your coefficient may use the operations +, —, X and positive exponents only.
All exponents must be simplified and all signs must be explicit (at the front).
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Use the entries of Pascal’s Triangle to expand and simplify (9¢ —10z)°. SCORE: /5 PTS
NOTES: Your coefficients may use the operations +, —, x and positive exponents only.

All exponents must be simplified and all signs must be explicit (at the front),
You must show the intermediate step in the expansion to get full credit.
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Find the rational number representation of the repeating decimal 0.654. SCORE: /5 PTS
NOTES: Only the 54 is repeated.
You must use only techniques from sections 9.2-9.5,
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AlJ and BJ both have sequences where the third term is 81, and the sixth term is — 24 . SCORE: /5 PTS

[a] If AJ’s sequence is geometric, find the first term of AJ’s sequence.
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[b] If BI’s sequence is arithmetic, find the sum of the first 11 terms of BJ’s sequence.
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Using mathematical induction, prove that Z[(Zi +1)+31=n-3"" forall positive integers 7 . SCORE: /10 PTS
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